EARAROBEEIERT — 2 N— IBISH —F

20195F9A308 (B) 8EIEER3H

m B2—# #3%—# (xwlw | lmEmml - |5 ) wom s
[AE4£] 1% :350,000” ~ 2%&:91,000” 33 :49,000 M  437%&:3500HMH .~ 57#&:17,000 H
& % B mEBR Mk ME BF (&) 24 L (&%) | @BIBf | £3F |SIEE | AR | AE | R FIRB) / BE / £ERS
A INEEE VA= o5 11?51;5%)& 1:57.1 4-4-2-2 | 39.3| — 2 487 iﬁggfﬁ(*ﬁ)
LULKUSYRIZ BiRaIIAREAL ' ) 42| Zpyseg
S o—# 210 sﬁgﬁgié 1:57.7 1-1-1-1 | 40.1| — | 4 | 443 B/JEIIJ)JE? lf?liﬁl) -
. 4 » ac 5
RiF2S N BRI Ty @ L
oS, Ho4 | WUABER 1:57.8 8-7-7-4 |39.3| — 10 | 452 |HEEIE— (EER)
ANRA Y 56.0 (1/2) © KBES
R:Z2FAd—I K B:LTF1FTFv K HET77—L
A7oa-X # 3 gioi’ 1:57.9 6-6-4-3 |39.9| — | 1 | 49 ﬁ%*u (m&)
g (3/4) 4 <F
AT AT v— B:IY RyNER> -8 J =Y Ty —L
Yo ITA41Y # 5 suﬁﬂ“k 1:58.1 7-8-6-6 [39.7| — | 3 | 440 @fi}ﬁéé (KiR)
. 3/4
Qgr/aTOq B FFEY @ D YR
6lel11l77~% ' 4| 2N 1:58.8 9-10-9-9 |40.0| — | 5 | 458 %ﬁimz (KiR)
o 4 - e
RRXHTLE B4 hUTO-X @ 10 | 4g E
7l8l10l 3T X —H— # 6 %27!;?5 1:58.9 10-9-10-8 [39.9| — | 8 | 542 %Ei; 22
N . (3/4 _ Al #
QIS AT A BINTATEYTF ) 2 | Fremins
8 o | AT LESF T 4 6 S%SJ%E?E 1:59.1 11-11-11-11{ 40.0 | — 11 534 ﬁ?@_éi (BEFH)
: (1) FRA
QAL anHLYY BFATARE ) |arr—n
955 VxNrOR i 5 ;.E:?%E 1:59.2 2-2-3-5 |41.4| — 9 421 Eigé (KiR)
. s _ BE
LixrdAnMO— B:XvANLALFRE (78) (-7) FAEKS
10011 |7EEX>T 2 G| ek s (:59.)2 5587 [40.5| — | 7 | 488 Eﬁgi (KiR)
. NF Ail
RFISNT S A~ ALY Ta— L @) | ") aa-KL-varazTs
17l g| FN>E—1x=T #o4 | BA 1:59.6 3-3-5-10 [41.3 — | 6 | 435 ﬁﬁ%g (KR)
. 21/2 - g
L:d—IWRT7Y2—b B:SNE—HTF— ( ) -6) J=HrTp—L
® I —F—@EBIERL
|2=3F= 3,5,8,9,1,6,7,4,11,10,2
2ol=7r= 3,56,8,9,1,6,4,7,10,11,2
Jol=5r= 3,9,5,6,8,7,4,1,11,10,2
40—+ — 3,9,6,4,5,7,1,10,11,8,2
[ N3
B OB 9 650/ 714K 3-9 780M % E 3-7 1,700M 3EHE 3-4-9 13,280H
8 B 9 190M 4-9 1,850 B = 3-9 2,400M K31 9-3-4 48,740
3 230 3-4 2,490 B H 9-3 4,090
4 570M

ABTICOVTRDTEEERROODE, JHB LS,




